For exigmple, in Drdeaphily

gye cokar; ¥ = wikdiyps and v = vermilion eye cobar
wing veinaion: o = wildevpe ond ov = crossveinless
wing morpholbgy: & = wildtype and &1 = gut wing edge

Paninlal erges:  orossveinless, cut winged v+ ev et e av o) X vermilion v ev+ piddy ort et
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Test crass: FI wildtpe (v ov ety ok o) X triple st (v ev ebfv ov ct)
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I. Perdreal phenatvpes are the most numerows classes = s+ ov ot and v oy st

2. Pouble crocuavecs are N Eas) oumseroun clisien = o s ab ang wi- o g

3. Desermination of the gene order by comparison of the parenal aad dauble crass over lasses (the gene in the midd e
“Mips" o switches with respect to the other wo Aankisg genes in the double crassaver when compared back 1o the
pereral) seoin this case, the gene order is v et ew

4. Rewrile the crosses;

Pareniol érocst orassveinkess, cun winged (v cbov fvsotov) X wErmilion (v eiF Cvniv cbk o]
F1 were wiple heterozygotes (v+ o evlv c1e ovi) wildiype phenotype

as Fi wildtyps v+ eocutvet® ov+ 1 X wriple mutas (v cbeviv caew)

Ja. Determing the freqisency of crossover bervess the v and ot loel:
Parenzals are v+ ctand v ot ind recombinants are vaoi+ ened v o
(BU+RI =35 1B = 0152 = 1 3.2% = 13.2 m.u.

Ak Determine dye freguency of crossaver betwesn the cf and cv loei:
Parennals are <1 ¢v and ct=cve and recombinents are ctove and o+ ey
(di=d3+50 ] 248 = 0,068 = &,4% = 8.4 i,

6. Thus the snp &
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